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. - oolgr urellder Geltu®ssd Cslyb allgb

A @GmewiiTeney B) ulgm

C} - snang®Casein . D) @eébise e mily.
Hydra reproduces asexually by | |

A)  Binary fission | "~ B) Budding

C)  Conjugation ’ D) Gonads.

st aibaCas e ( apf) aybessd ) e@LED o &Tgd WD e E
sTETUURSIDg 7

A} spbun ' B) Guylfdlwd

O guGeamCemor | D) \leorsv Gumgunbd.
Circumvallation is a mode of feeding in |

A}  Amoeba B) Paramoecium

C) Trypanosoma D) Plasmodium. |
g,eﬁrsufﬁmt'_q.‘ 0]

Al 3 Haiesorest B} gl @omes

C) By CardFeSiudidolf _ D) @eubper agiauddene.

Fresh-water mussel is a

~A) Predator B) Parasite

C)  Mucociliary feeder D) none of tﬁese.

gpUeSlur ClgefigCal L ahg awne 2

A Ceqortills (e sappmud )

B) - ewrids (FpLe swemub )

C) e wriils ( @E-® Sewy )

. D) @eupper agapfidens. |
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UDZO 4

Obelid geniculata is a
A}  Trimorphic colony B) Dimorphic colony
C) - Monomorphic form ' D) None of these,

5. yGpm_GLrGerauralles s@hdl aliflyb @blfleefler Gouaner areita 2
4) Oesflworerd B) i Syemey fyemwoliy
C) meize | D)  @emeu syemanpgib.

Fuction of contractile vacuole in Protbzoa is

A)  Digestion .B] Osmoregulation |
C) Locomotion D) All of these.
6. urCfurid fasser sraoiu@eug el 7 |
A) ey ' . B) . elleLlyw
C) | pflen D) sié Ceusiendl.

Botryoidal tissue is seen in

A) °  Earthworm ' B) Leech

C)  Nerels D) Sea-cucumber.

7.  dpssariaiphie ag aSaellen | baman ' e e pseLOEETDE) 7
, A) @u;duurr@_é\u.lr_r ' 7 B) @u.;&erréa@._sheun

C) - evapwGeurfiom D) @eurergleer.
Which of the following is termed as ‘venus' flower basket ?

A) Euspongia B) Euplectelia

| C} Hyalonema D)  Spongilla.

TrC 15550
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8. r@L@L.aS]&'mﬂéo ‘@everCuTChengl’ aaTp Tyl HOPHEILGHGDE 7
A} e*,’c%;;; aursd Qes
B) @uaimaug wrsflderalle 2 eer Glanew Guireip ety
C) Quenreug wrsdlelilige 2 arter Gena Cumeitp Syemioliy
D) yGumuml.
What is termed .gs Scaphognathite in custaceans ?
A)  Chelate walking leg
| B) Leaf like appendage in the second ﬁuaﬁdna
C) Leaf like appendagé in the second maxllliped‘ '
D) -.?Ulropod.
9. uephsmer 2 eien_sdw alewbdlarp Czred
4A) G dAur B) eQamGuryr
C) Qureeusr D) eadfGamrGLnCoLr.
Animal group that contains corals is
. A} Cnidaria ‘B) Ctenophora
C} Mollusca D) Echinodermata.
10. géﬂuﬂmlﬂmaﬂmed\uﬁé\s&r SDlDU G @L’..@L_QS]E;G_ﬂGﬁT ugﬂ
A s wrédéer B} wg& mrréstﬂeﬂﬂt.‘.
C)  @uweLmd wrésléer - D) @getomd wrsdledl.
The labilum of insects is homologoﬁs to the crustacean
A) | first maxdlla ' . B) first maxilliped

C) second maxilla D) second maxilliped.

E—
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11. et gevedlett sreurs 2 Qi
A) 2L @papeugd | B) Osaeir .
C}  meogugd D) gflusdlud gemer.
Neanthus' respiratory organ is
A)  Whole body surface | B) Gill
C) Lungs ' D) Tracheal hole.

12, g oSSlenrev@er eonifeur smesoTiuBeug)

A) : anL o - ' B Qurasver
C)  sLp srwRd : D) | SLDLIEHS .
Amphiblastula is the larva of |

A) Hydra ' | B} Mollusca

C) Sea-anemone D) . Sponges.

13, LUy ol e dé Gehe Caeflaugn Curg

A)  wesT B)  @h@en
C) Qs it | D) fibev.
The silkworm which hatches from eggs is known as -
A)  Maggots _ : B) Cocoon
C) Caterpillar | D) Nymphs.

14, @#prru] ety QaraiiL. svansun s &P aumbapg
A) DL ETVGHTET IDTL i B) em@smedt LG
C) guilemer wrd | D) sraflGrrisy wrd.
The canal system of Scypha belongs to
A)  Ascon type ' ' B)  Sycon type

C) Leucon type ' D)  Calthrops type.

x[1918 | | [19000]
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15. @by e-GoTpe agud HeveuuTen Hlmpsd)

A}
B}
C)

D)

gt aener s cUBHETE

LL.é_‘@jdl’ QuagiousciidEia urgeTie Qarehen

sdsiugurer srddupes QauelGubp

siflemeu QeuefiGupp.

' Pearl formation Is an interesting phenomenon for

A)
B
)

D)

feeding micro-organism

protection against foreign invaders -

excreting excess calcium

excreting the waste.

16. &psec_appet ag sfurs Qurebadlapg 7

A)

B}

C)

D)

QuelHGurLm —
muﬁlﬁ)u&.&noﬁmsﬁ —
AL NI - —

sueend gensu..daer - —

L. Grr@arCurri
é’smn'-dsﬂlg._tufn
gm_ﬁ]eﬁ]u.isiu

Oeueligpr .

Which one.of the following is correctly matched ?

A
B)
o

D)

x(1013]

Pelecypoda
Gastropoda
Crustacea

Annelida

— 'I‘l‘ochoﬁhbz;e
- : Glopmd_ium
-—I Nauplius
— Vehge;. _
- [ Turn over

o BT



- UDZO | 8
17. plesdly deafler GugHleGaflur g
A)  seure 2.plyse
C) gqumL'..L.rﬂ 2 piyseh
Pedicellariae of starfish are
A)  respiratory organs

C) ambulatory organs

. B)

D)

B)

D)

sevall 2 pliser

FHSILGSHD 2 Qs

copulatory organs

cleaning organs.

18. Cupmew 2 o _négh wrCsrCurralbe i 2.gmyesmtib

A)  Semrev@omgund coumerFIGLITD
B) LAuCerrGemwr Gabilueard]
C)  eenidblur Camene
" D)  eerccdlur ggj?dvuraﬂ#asm
An example for pathogenic Rhizopoda is
A)  Plasmodium falciparum
B) 'i?ypaosoma gambiense
C) Entamoeba coli -

D) Entamoeba histolytica.

19. GuellGurmeur @gmmq.awmﬁla‘n corireuds eueniéd) dpsacu app sflurar auflavauies

cuentlpg 7

A mmurreﬂqmnb,@mq.mrr. awGur@prflev, Qedarflur, QuiL.r Qafarilur

B) ewgrdiguid, svCurByrflev, Crguwr, Quirr Qefrarfur, Qedtsmhiur

C) Quiir Qeterflur, Qetsrfur, ewyrdigubd, svGurGyréevl, Grgwr

D) ewyrfliqub, e'rﬁGurqurré-‘lsiuC., Gyguwr, Qarerflur, QulLr Qetarflur.

x :
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21.

9

Identify the correct order in which larvae develop in Fasciola hepatica ?

A)  Miracidium, Redia, Sporocyst, Cercaria, Metacercaria.

B) Miraéidlum, Sporocyst, Redia, Metacercaria, Cércaria.

C) Metacercaria, Cercaria, Miracidium, Sporocyst, Redia

D) Miracidium, Sporocyst, Redia, Cércaria, Metacercaria. .

Guﬁﬁ&a,.é‘:é\m Gurt eSyelr a@TILGG

Al Qandev@Libwr B)
C) a‘;?smsmq.wrr D)
Portgguese man of war is

A) Helistemma B)

C) Clytia : D)

watsablsela ardan 2.6 subflaaaou uyrofléen 2 gy

A) &I &eflur

B) L&Lev ereatGLiredibumg sen

C) o euli @9&&1&6{1

D) gburels sy

The balancing organ in the vertebrate ear is

A) Cocfxlea
B) Ductus endoiymphaticus

C) Senncirculaf canals

D) Tympanic membrane.

«{1813]
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23.

23.

24.

%g_g aeiug as@ Lé QeTed GsSrd

A yever _ | B) weafigen |
0 edwoy D
%ig—g is the dental formula of

A) Cat B) Man

C) Horse D) Dog.

e euesT WHOIE UMLILET Q;l,aﬁlmcunj);ﬁle&r Bleveané@id Ulenasmilienu Qlamedor. g
A)  Jdenmiiguen ' . B)  séllem

C)  dlad D) f&fGurigysev.
Connecting link between reptiles apd birdg is

A) Platypus . B) Echidna

-C)  Kiwi : D)  Archeopteryx.

Sphsetoi saprysenen bis :
Lo Lmeﬁ Gp®& Gudrmoure euri’ Qaraki_g,
L Le Qne sar@Layt Gwena el HHug
. s&GLaf e Las Gpaos oSl Hflug
V. s&QLaf Gnd S Ppp—— QeregorLg.
@leuppyelr :
4A)  Twbhmd I sfiuretanes
B) Il wbmpyd I sflurerena
C) I wppbd IV sfluretane

D} Iwppd IV sflurerencu.

< [fo13)
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11 UDZO
Analyse the following statements :

1.  Down feathers have a soft shaft
II.  Down feathers are smaller than contour feather
Il. Contour feathers are smaller than down feather

IV. Contour feathers have a soft shaft.

-Of these
“A)  landll are correct B) 1 and UI are correct
C) III and IV are correct : m I and IV are correct.

svllLrerd sretliLBeug)

A)  wmiry ergpiby B)  @pgllagiby
..C) :@r;t)@eaeﬁ - D) . euré.
-Sternum is

Aj breaét bone | ' - B]  vertebrae
C) feath&s o : | D) tail

wrib et eflagiud wriedacnrals sl Lgdldie swhaeiarsTed alaypams Lo

gieemiles gpeud LIEQIHS 2 BOUUSDS ..-vvvvvvrvecrreen, 2 aieng.
A) QereaCamdareren Bl gleu@grdlemenuen
o) yGymg Gy lemerLisiv D) @Qeupmet ergepfideme.

The poison fangs are found at the hinder end of the maxillae and are grooved for

the conveyance of the poison in ..................... snakes.
A)  Solenoglyphous & B)  Ophisthoglyphous
C)  Proterolglyphous D} None of these.

x[1013 : _ : [ Turn over
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27. ulguéd I g utque He e Quresd, s6p Gar@ssiufeier GhldGamens

Qaran@ sflurar afloLows Caibdsd

urgwe X
seulf Ldoedl

UD&GLD Lidoed

uiNser eflenis

fleorm wretehuL e

4

a)

b)

c}

‘ d)
GOUIPasit

a

A 2

B) 3

C) 3

D) - 3

2

N W

1

LA

2

4.

T uligwe I
Gl it
Byrlsm
Q& Cairen

péaoieng,.

Match List I correctly with List II and select your answer using the codes given

below :
a)
b}
c)
d)
Codes :
a
A} 2
B) 3
C} 3
D) 3

X IQLSJ

List I

Wall lizard

Flying dragoh
African wizard

Gila monsters

[ I

N W

List II
1. Chameleon
2.  Draco
3.  Geckos

4. Poisonous.
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28, spmefe 216 apapeugid qpquﬂ@uua .

29.

30.

Al geri’ Qeddssh B) evesanmil Gedléser

C) JSersamil Osdlésefr D). Beubpet erginyblisansy.

The entire shark body is covered with

A}  Ctenoid scales ' B) Cycloid scales
C)  Placoid scales D) None of these.
@lgl G rglflwr Jsusms_aﬁw sTtheg |

A)  ER&TH ' B) eyt
C) &Ll | | D) el

Which of the following belongs to Metatheria ?

A) Kangaroo B} = Spiny ant eater

Cj Mice D) Rat.

e sHeflés Semwhaeion aaubyseflar sflures euflae

A) Qetalad, srid, epbut, Qgryréls, é_rrésgs’o

B  Qeralsd, Qagryrdlé, euburt, sTéiye, STLE

C) Gsralad, Qgrgrdld, erdre, euburr, HrL.6

D) Qerallad, gubui, Qgrgrdls, smegd, Hrd.
Arrange the following in correct position of vertebrae :
A) Cervical, Caudal, Lumbar, Thoracic, Sacral

B}  Cervical, Thoracic, Lumbar..Sacra.l. Caudal

C) ,Cervica.l. Thoracic, Sacral, Lumbar, Caudal

D) - Cervical, Lumbar, Thoracic, Sacral, Caudal.

JEICI [ Turn over
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31l. upeeusefier emsflaréen erg,rj;@u LwestuRding ¢
- A) srheop Cpsdlamabe 7 B)
C)  efiqgas D)
In birds what is the function of syrinx ?
A) To étore air ' B)

Q) To swallow D)

eUSID ereplini

Seubpuer agiaybicdene.

To producé voicé

None of these.

32. upeeaulder GusBLrBrrelldvenweant ereTlLRD Hensulles Cousmen sTedreT 7

A} dp@soer 2 WiES B)

C) eardugdowus Smi D)

Speaaad sTPHS

@leubpiel e giayllciemen.

In birds, what is the function of Pectoralis minor muscle ?

A)  To raise the wings B)

C) To steer the tail D)
33.  smiGaredud urj)&,aufr sraoTUiBeug adlen 2

A) (PHE B)

C} Susd D)

Carnassial teeth are seen in

A}  Crocodile _ " B)

C). Lion | D)
34. UPSUSEHHE UTEEN L GRTHY

A) JEST ALY | B)

C) Nes &Y 4 D)

Sense of smell in birds\is _

A} Acute _ B)

o Mmid | D)

« [1813] |

To lower the wings

None of these.

IT & 687

' 91'_1_5&).

Elephant

Camel,

Slem_wirg

1Hs Ba sifisib.

Absent

Very much acute.



15 o UDZO
35. dpsadomcippet ag Carele Giwha Gg,rra‘n@;cug;.#
A) s B) peb
C) Gamiy - | - D) Qe sy,
Which of the following is skin derivative ?
A) | Hair ' B) Nail
_C) Horn . a | D) All of these.
36. ‘srhciaNGourt’ 2 cmaiupab 2 g
| A) ,,%Lbd]u.irré.eme'm‘ | B) Qu;_@ﬁﬂmm&nc&r
C) wLméwum D) emeulur. -
Sangulnlvoro;.ls feeding is seen in
A) Amphioxué o B) Pétromyzon
C) Talpa _D) | Vif)er.
37. eréveon urrgzrra;_tq,g:aﬂguio STE@OTUURID (G ewT
A @@W@W B
B)  cullppiypsdlé o srer priussan®
c) ug)L'.lusonlrrai @dmrrﬂ@&géx
D) g suss oot srgz_[lbqa;,msﬂ& erraﬁ‘r@ Bimsse.
A common cha.ralciztler_lst_ic among all 'marﬁmgls is
A) camivores -
B) ventral nerve cofd
C) donotfly |

D) seven cervical vertebrae.

x fmooo] . [ Turn over
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38.

shaid peopdye aramiu@eaug

A  efleoy B} ypr

C) umby D) GCaenn.
Capﬂlary lung is seen in

A) Horse oo B) Pigeon

C) Snake D} Toad.

39. fppitueru sreviuLry allemdlerd erg 2

40.

A  @Qaurpailser B) upeauilamiser

C)  urgmigser D}  estfeue.

Urinary bladder is absent in 1-w'hich animal ?

A)  Amphibians B) | Aves

C) Mammals . D) Reptiles.
Fpsaam_aipplé o abramwure GHGLQ SemwiL 2sher UTQILY ag ?
A ydHflwr | B) GuLnrgiflur

Q) yCyrGrgfur D) @ Hearsgib.
Which of the following mammals has true placenta ?

A) Eutheria ' . B)  Metatheria

C) Prototheria D) Al of these.

x | 1913! .
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42.

43.

44,

17 : UDZO,
g,rrmiijgsé]s'u (WPSE 1p&HeNen ﬂ@un(ﬁ&rﬁbé@m s Ol Ssart s |
A) LT Geut whpd Ny eyedt B) grrtiﬂéhe& whHpb Ny ey
C) :‘ giestaest whpu urqusLL _ D) G@mrapgr wtj)@fo SHTTeueT.
The ribosomes were first roted in plant cells by | |
A)  Palade and Brown ' "~ B) Robinson and Brown
C) Robinson and Palade : " D) Nomura and Kurland.

@5@Jmn_u1 Qs Haniugmbssia ol GLraramgfur daLwrg

A)  omireuaw : B) Bééla’m‘r

Cl . umsymligSen | D}  upluen.
Red blood cells of ................... contain no mitochondria.
A) _ Reptiles . - _ B) Insects

C) Mammals | I' D) Aves.

e, aetueui UGH ey UTeud -G&I'I'L'_Ul'l'll_ml_ 24 &efIGL g 6l

urevurAGeayefles aflarsdlesmi. A
A DéGed B) s Gapeev Syoew
C). erbuLses @lDGUJri’LL'J‘ ‘ D)  enLauf. -

..................... proposeq chemi-osmotic hypothesis of oxidative phosphorylation.

A) - Mitchell B)  Sir Hans Krebs
C) Embden Meyerof D}  Tyler.
grerr  eulustelldr | smupLoL ....... Seney perd Oames

el CLrram edon._furenes Qe oL gi.

A) 10 pm o B) 10-20um

C) . 20-30pm | D)  20-40 pm.

Oocytes of Rana pipens contain ..................... long n_ntochondria.l
‘A 10pm | | B) 1Q;20pm |

C) 20 30um ' : D} 20-40pm.

x{1818] ‘ {19000 ‘ { Turn over
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5.

46.

47.

urell By selGuranger Seamerfler ameLdll vedowu srés yrolseb

By, &HefCueller eraramading

)  a&6Cavrhly sHeflCuen B) flysdefCuen

C)  aenGLmblysefGuey D) unedwGrev.

A nuclease enzyme which begins its attack from a free end of polynucleotide is
A)  Exonuclease : B} Nuclease

C) Endonuclease D) Polymerase.

‘oL ewlL L erdvemen) LgHleow CaTador sn_ﬂéie;ﬂmé) Qdsmaner Qarang

4A) dpdysid : B) JgsLeu
C) Speld D) &riulenu.

Striated border is present in the epithelial cells of

"A)  Kidney B)  Gall bladder

C) Intestine Dj Uterus,

.................... STUeUT et s -allé T aﬁ]méséﬂmrrrfasé’r.

A) st ohpid eE]rﬂs&nL.eb | B} Greflwel wppud Ccuae
O (S.LwﬂUJG\S] whpid aomirGeu b) Gammrurt whgd éol.ﬂfﬂéaé].
..................... proposed a model, called Sandwich model.’

A)  Gorter and Grendai : B} Dapielu and Darson

C) Danielli and Iia.fvey D) Hober and Fricke.

X ,



48. ulgud I g ulyud Meisr Quresd, afG;p @&n’@é&&uul_@eﬁm @@uﬁ'@&,meﬂe. '

1 9-

. Qeras® sflurer nﬂml_mmé Ggrhqug,@

U I
Sumil_é |
ém;ﬁla'mé*
svGuflae

el g

a)
b}
<)
‘ d
SPGs
a
A) 1
B) .1
o a
D) 3

Match List I correctly with. List II and select your answer using the codes given

 below :
a)

'b)

c)

d)
Codes :
a

A) 1
B) 1
C) 4
D) 3

N W W W B

List

Cuboidal

Spindle shaped

Spherical.
Elongated

N W R W e

 [Eee63] |«

4

BhONON B

N W L

ol A

& N A

1.

UDZO

ulgqué IE
agrml@ &gl
By Qe

QuoeTEMOWITET &EMBLIELILIT -

- LBl

List II
1. ’l‘-yroid'gland
2. Nefve cells
3. -S'mooth.mu_scle fibres
“ 4. - Eggs. |

k-
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49,

50.

Spbaco aursduhsenad seue

spm (A} 1 e urseflurseefics Qad saenr Cgd u@é!\uméu epL L Delteng.
snyesmid (R} Qg Carddl e pliyserme a_rj)u;siél Qebwliu@Hng. |

&8y Qar@ssuul @srer @BliRser apeud sflurer alenowug CarbOeHEHs :

A)  (A) wHpd (R Guan@d sfl, Cueyd (R) srs&tug;_(A) allbe sflurear allenéshn

B) (A wppd (R) Greor@d fl, Cueud (R) sreiiug: (A) efibg sflurer allersswde
C) (A ef, syermen (R) geuy | -

D} (A seum, gemré (R) &l

Consider the following statéments :

Assertion (A) : In some bacteria, the cell wall is surrounded by gel layér.
Reason (R} : It is secreted by golgi complex.

Now select your @swer according to the coding scheme given below :

A}  Both (A) and (R) are true and (R} is the correct explanation of (A)

B) Both (A) and (R) are true, but (R} is not the correct explanation of (‘A)

C)  (A)1s true, but (R) is false

D) (A} is false, but (R} Is true.

seuravss G pa@natiurs ursefiur Gle s QBULBHE

A} GaerellGus) B) ursedur Gugd

C) oifleocdon. Gug D) @eupmst ageydléene.
Viruses that parasitise the bacterial cells are <

A) Coliphages B) Bactexl'iophages

C)  Virulent phages D} ' None of these.

-

x| 1913 ‘ 19000‘
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51. QUand ubspg Cedsdlldr Gad sdnsd Qoabg GLEEIGBbETSH, SyBebr Gt

Al eowsCrraldame : . Bl Gurfleréy umi
e L spiheyedt D) Gsl phayer.
When the i:)lasma membranes of the two adjacent cells fuse intimately, it is ‘
called '
A) Microvﬂh _ B} Terminal bars
C)  Tight junctions ‘D) Gap junctions.

52, o6 6CrmGrGsmble m&@ﬂ@ Qeegong Gyridut @mbares Hypes Cuwi
A) eCarbeangflé B) ngw@&s&m.rﬂ&
C) sCprQeamngfls D} @eubper e geydlcoeney.
\;Vhen the centromere is at the éentre of the Chromosome, it is called
-A) Telocentric | B) Metacentric
C)  Acrocentric D) None of these.

53. af@é.ac&uxpmtj)@dr ahe Qe el Grmdlen apevid uéﬁuéﬂs‘vmm ?
A) aﬂr.f,gu AT B) sane Glae
C) {51}1'1)1.4 Qe D) @6 et Hgin.
Which of the following cells does not divide by Mitosis ?

A) Sperm cell B) Muscle cell
C} Nerve cell D) Al of these.

54. eesLpTe QrreaenCuril. geeiae ahg sraoiufdlaime
A} - Garcdens: 2_muiy B) eowlGLramreiugfhur
Cl HlyseaflGureasin D} @mp‘)@eﬁ e gaydlcemne:.
Electron tfansport particles are seen in
Al Golgi bodies B}  Mitochondria

C) Nucleolus D)  None of these.

x [1813] o [ Turn over
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55. e Qe ( Sm@s asua; ) wm..c Cam_urien_é Qereiag wrr 7 |
A) Gawsear whpb Hflé B) Gpremeletor
C)  gnufleer D) et wppb Herdass,
Unit membrane model was proposed by
A)  Watson & Crick B) Rosalind
C) | Robertson _ '_ | . D) Singer & Nicolson.

56. wellg Qe gy amaefles @emer LGLIleT pgailés B%G'ml_llll;..l@
A o6 Qevu Gaé LG B) | [_F)_f.t:GﬁT@ E\mowu Glgasef
C) S HEHLL g mLL@(D ‘D) preng speuw Gedss.
The process of meijotic cell division in a hﬁman rﬁale usually forms
A) one diploid cell only | B)  four diploid cells
Q) one monoploid cell only D) four moﬁoplold cells.

57. &psacuiaphe efletdla Gedhadié vl @b eranivBog g ?
A) AT arf,-ur;r B) G&'cﬁruﬁl@mwd)
C}  dlysefluen | D) eam&Gumé. |
In the following which structure is usually present only in animal cells ?
A)  Cell wall Bl Centriole

C) Nucleus - D) = Vacuole.

x [1913] | - [19000]
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59,

60,

61.

23
mRNA & salLors pawd ACurCsmbaehdel Gt
Al  oaGsrGsmbd | B)  uned@smid
C) urdllGwasCunCarid D) @euICyrGamd.
Group of ribosomes moving together in mRNA is
A} | Lysosome | | B) Polysome
) Polydesmosome - .. D) Spherosome.
Epbocn_apfé gybut caiLGE LTE 7 |
A) UAA B) AUG

C) UGA D) UAG.

Which one of the following is knoswn as ‘Amber’ ?

A)  UAA B) AUG

'© UGA - D) UAG.

1§ .vein g ey @m;»amrq anan ?

A 10A B) 20A

0 34A | . D} 34A
What is the width of DNA molecule ?. 7

A) iO A B) 204

C) 34A D) 34A

@t eredon U Yib wLYYb yerefl allauysEibe g

A) symefl B) @leoHleney
O w6 | D)  gyelesns.
A number repeated again and again in a data is

A) Mean B) Median

C) Mode D) Standard deviation.

[ Turn over
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' 62. afgpé.a.durl_ arsflunsenes soued :
SOOI {A] : F & gap sag Quplprfle geapdr epéers sabg
ghuGeus
sryeb (R} @g,lj)@ Lﬂs&TGmrré@ GD&GE Ha.
SCyp G\an@amg;@mm @PP st weud sflure el swg BprbCe®ses :
A (A) wppi (R) Gpaaesd of, Gogid (R) arenig 4A) elpe shurer eflerssin
Bl (A vpmid (R Gram®b &M, Gugud (R) ererugl (Al eflpe sflurar aflanésnee
C) (A &fl, gyare (R} gaup | |
D) (A} geaup, geme (R) &fl.
Consider the following statements :

Assertion (A) : When F, individuals are crossed with one of the two parents

ﬁom which they were derived.
Reason(R):  Such a cross is called back cross.
Now select your answer according to the coding scher_ne given below :
A) Both (A} and (R) are true and (R) is the correct explanation of (A)
B)  Both (A} and (R) are true, but (R} is not the correct explanation of (A}
C) (A is true, but (R) is false
D) | (A) is false, but (R} is tn;xe.
63. Guoad.cler Garrf.um'.mq,aﬂ@_rba el mling
| A)  spgomen Gasl.ﬂl"_®6,e|‘r'
B) vLmflereu
C)  NerGeagy
D) @egGluaTL il giami Gy et uGdee.

x[ro13] -~
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65.

25

An exception to Mendel's law is

A)  Purity of gamete

B} Dominance

C} Linkage
D} -Independent assortment of factors.
Loy wySwellen sheng aaIPaPSHLLGUEIT

A) \Qwés‘nn_d) B) yGsr g aMflav

C)  Gumiaren D) ifdlurd Ganrl.

Father of experimental genetics is

A)  Mendel . ' B)  Hugo de Vries

C) Morgan | D) Arcibald Garrod.
@@&Garj.)g).m @&rrcﬁm@’ QUBHEUG

A) mﬁu@aﬂs&r DY) ol g EHGTEY

Bj wrrfj)gjggﬂéo ap&sFlugsanbléeare

C)  cugpeurest Gend 2 wiflaeh

D) m&i@t.mﬁ\a%rr&&,@a‘i lJ:;lT[bDJ 2 pUILELESH.

Crossing over brings about

A) recombination of genes

B) no silgniﬂcant change

C) ‘ sturdy offspring

D)  cytoplasmic reorganization.

x [1918] | :
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66.

67.

68.

wyugene bl Lgiushe CrrCsridur o sadng gGeremred

A gt sealille 100-6@ GuopurL Gerd 2 ifasr 2 mardpg

B) peoa(penpd ereud 10 - 20 priseh

C) @CyrCunCsard genews Gumeug Waad FTgTrEmLTRTG ,g_qg,@n..a‘sr eI
Qoo 2 GLrGsrbadr LHpD XYurdglrrCorGsrbsafles Y eeug
Qarésdlwurghd

D) @ee Seardbgib.

Drosophila is used in the study of genetics because

A} -'a single mating produces over 100 offsprings

B)  generation period is 10 - 20 days t

C) chromosome complement is simple with three pairs of autosomes and

XY sex chromosomes where Y is hooked
D)  All of these.
wyugeliesn sua»guu.{bemg 5@5511...& peolld eflersdlueurt
A)  CGunramest B)  Ofiigev
C) eif D) sl frigeuebt..
Concept of gene mapping was first suggééted by
A)  Morgan | | .B) Bridges
C) Avery D) | Stui'tevﬁht.

urdiSuref) cueanenud sreiLBoug

‘A) urelligedt GlyrQuorGsrbaeticy B) guQemgest eGrrRurGembeasficn

C) ZDNA o ‘D) B-DNA.
Balbiant rings are found in
A}  Polytene chromosomes B} Diplotene chromosomes

C} ZDNA D) B-DNA.

«[1813) [19000]
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r. 69. uf.gwauﬁuﬁé-'mqq_ﬂ‘@i.,g,ma);wr@rﬂﬁsgmﬁ Quodn_é. SBDS
| A Gmrermrr,tﬁt;q;@mp.g;é; Bl unefGgefls mr;'q SIDOL

C)  senq oy S g D) es GLmletmevdlé wyy SEOLB6.

The type of lnherltance shown by Mendal in Pea is

. A) : Monogenic lnheritance S B) ~ Polygenic inherifancg '
Cc) Quantltative inheritance . D) ~ Cytoplasmic mheritance
70,  corereeseseennnn. IDESTBEOID @smrﬂlu wmu@&gmmmmmgm QULET LT o0 L@mrré,@sﬁlum
A}  Leysiien é]sm_Gr;rrm 'B)  Lirenten eﬂam-.@gmn '
C}  deflenQuésitend ﬂsﬁn'.@gfrlb D) | @'I;’}!?ml_wri‘aaef['.

ST SRR pro__dtices sterile male with some fnentalrretardatlon.‘
A) Down's synd;-ome : - Bl T‘};lmer‘s syndtome
C) | Klinefelter's sm&pme - D) Twins. |

71. '.@Ggw@&mﬁlmnaﬁ\@.muﬁq Blp 216
A g Ly B) . g@he uy
C)  uréeomringl uedy | D). @mr_brmq’r ergiopSlcience.
In Drosophila, Black_ Body colour is ‘
A)  Dominant .c,hara‘cter B) Recessive character.
C) Sex-linked character _ D) None of fhese

72. Ggrbm sub&mmmul_ﬂéo ( Li’GsumsmL.u ) eﬂtﬂgem;q LI HPHOS a_dun_.rr&@,m et wrpp
wyugpbaeiier Gt

A uesLQ sefosetr B) Qe ghig el

C) gGsr sefdvme | D) @mﬁ)?jsﬁ agioyfidensy.
Mutant genes that give slightly modified f»henotype are called

A)  Multiple Allcles B)  Co-dominant Alleles

Q) Isoalleles : ‘D) None of these.

x _ o [ Turn over
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73.

74.

75.

76.

eHUTEIDT ( GDIGHOWIL ) BHTHH aany S pssiu@apg

A) L_LLIIrT s dlay (e fleooew ) B) GuddareiCsayer
C} GQuigl (prpussL. ) D) @eubmsi ergiajbléeanc.
Movement of Chiasma is called |

A) Diakinesis , B) Terminalisation
C) ‘I‘etréd D) None of these.
dpsaetorsuppiet g ygelléen @Gﬁm ? |

Al @@bus s QUUTE _ B alhg euhd

C)  wrdlwue sobemiey D) @mm D(SVDT S0 .
Which one of the following is a method in Eugenics ?

A)  Sterilization : B) Sperm bank

C)  Genetic counselling "D} Allof thl:se.

Queaelt LTeE&CTmwLIg et

A dyrge B) Onbsge

C)  umelligels D) @eubmist ergiapbléensy.
Human females are ............... sex chromatin.

A) Néutral B) Negative

C) Positive D}  None of these.

o6 gofldr uvany QeefliurioL wHCpre gér s@seL Gurg, STy
s0&sLLOSHGn et srshaﬂgfo.asmpé,auu@aﬂe&rpgj ?

A)  srbrefQuwekfl g B) efenLmgé

C) eapGurevLmyé D) @DGT\S]IH,GL_IT- Lmifiesetran.

If a gene expression is suppressed by the action of another gene, then how is the
suppressed gene termed ?

A) Complementary B) Epistatic

C} Hypostatic D) Pseudo-dominance.-

x[1913 [19000!



29 . UDZO

77. é’;pa‘.s,snbn_m;mﬁéi uman.l._@ aé:efm&sﬁ m@mn’a& &Lﬁﬁuu@,\mg} &rg)

R |

- A) | A, B@@Q mmgmfr | ‘_ o B) ;r,lp'e.@@@ .‘
| C) Qﬂf@mrr-‘ﬂ,a:‘ilwrr . . o ';D).' tﬂf;éﬂm Qe ??&’5%25““
-Whlc‘h of the gqlllqgvingr ismultiple allelic inheritance ? -
A) | A, Bblood groups | ¥3) Cglour bllnciness_ﬁl
C) Haemoéh;]ja | ’ | D) H Sicklc cellan;emla
78. o® a_uﬁrﬂuﬁlm G\mdﬂuqmﬁ, (Bg,n'rpg)&.é,]eu &rrcmuu@m @@ @gSlud]L_x_ u;,@:}du_ ercusurr;g;
a@@amuu@éﬁmpgj ?
A 96 @f""?gg‘" c#® . B g6 eGmGurlend .
C) g6 g(ﬁzeuyrrco_m.a A | b) @@ d(Ba:rrremL_u
The routward appearance of a part.icular trait in an org;;'nsn;n is rcferred toas.
A} an al!e!e DR - B a chroqlqsome_: .
C) a génotype - | D) a._-phen&typg.

#

79. é’p$5Mme@m srgg.és a.a)uq O@r}g,g,mms:smuzés @mna‘an_ @Lp,rbmgmm

(‘Bg,m_ggmﬁ\&@m 2

A)  AOxBB B) AA_qu
C) ABxO0Q - D) AOx BO,

* Which cross could produce 5_cl';1ld with typé O blood ?
Al AOx BB - B) AAxBO

) ABx00 ~ Dl. AOxBO.

x [1813] , [ Tum over
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80.

81.

82,

83.

FphaeoLcupdlés erg) ‘(ngrr&.orr sy glamaL Liou @hlédeéipg 7 |
A) Bb B} BC

C} bb o D} be.- |

Which represénts the genotyﬁe of a horndzygous condition ?

A B B BC

C) bb ‘ ‘D) be

weflgaer g Crréworer Haliugmsss

A}l sphenpD & L& 2 6oL et | B) @i® lsp e arwen
C) ud 2l a2 e wer D) o l&®m spooea.

The normal erythrocytes of human beings are

A) uninucleate . B) binucleate

C) multi-nucleate D non-nucleate,

Wgs Brre Qerywlysaias Geflisd vhpd o PNhasd poL Quydpg. qua’st&)n@

W3- 311 SO 2 eiteng
A)  &StGue B)  sp Hpdeet
C) Osremsulgme D) Jgg o lyser.

Bile juice aids in the digestion and absorption of fat because it contains

A)  Lipase B) Bile plgménts
C)  Cholesterol D) Bile salts.
affGur@Cermieailes Eymiby @éver LGH

A) @Cermllen - B) qbwrger

C) Jefimpllenredr T | D) aiGurimr&eadle.

The iron-free portion of haemoglobin is
A) Globin B ' B) Hematin

C) Bilirubin ' / D) Hemotoxin.

x[1913]
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84. yihs sflewras DBLT R G\maﬂGmg)@a‘;];_r)g; ?
| A uﬁ]@mQLs&é& ofekigset B yfGsrOLels afemgss
&) mcwﬂ@mw&dﬂ& aleuki@ssi D} @eubpet srgua;t&a:smm
| Nitrogen is excreted in the form of uric acid from

A)  ureotelic animals B)  uricotelic animals

C) ammonotelic animals _ D) none of these.
85. gemsluby Q&wﬁ&t_ ....... essaenns | . eoniles aS\tj;g._;s.\b_ fesdpg. |

A) auaﬂlaﬂcqn@t..rrcbr a B) letq.@mlb-,

Cl au@ng‘l_m ‘ ' - D) Uoooﬂl.r

A mugsculo-cutaneous sac containing the testes is
A) Sclerotome ' ' B} Reticulum
C) Scrotum D) Puff.

86. n_u.lr‘i'gf;lsma) e sgubdyY Luﬂrﬂmﬂaaﬂm aﬂgbga,m ahe g:_r)m'r(‘émrrmm Lmu;@

Qsmeﬂg)gg ?
A)  wevgCrmggedr B) yGyrgfevgymed.
C)  Mersedler D) ‘%séTLnggédsT .

A hormone secreted by the testis in higher vertebrates is

A)  Estrogen : B)  Progesterone
C} Relaxin o D) 'Androgen _
- 87. eldiimeten Qeasende Baayb Cryyurs aﬁlsml_&as autq.u.n %pg)ammg] ....................
26 Calisauu@dpg. |
A) ATP B) &t&seny
C) ADP | .‘ | - D) Q@arpuyse,

The energy most directly available for use by living cells is stored ir_i
A) ATP B) Sugars

C) ADP o D) Fats.

x [1913] , 4 [ Turn over
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88. @@ smrGuryr smigursdeore 2 pubd Qelwul G yBrT@sTFreHs sridure
QewbuPssFns

A  YCrrgrrsdlse syl apmrrGuomes
B) geuemerd gorrr'r@mn;t'sr |
C) Qgny&lar ppritQuomes
D) yCrrsrydlsaGamyCrrils apmiGuomes.
Which is secreted by the corpora cardiaca and activates the prothoracic gland ?
A)  Prothoracic gland hémonc |
B) Juvenile hormone
C) Thoracohormone
D)  Prothoracicotrophic hormone.
89. QregIsEGeT emauyeuTd gHuRD STEEEHmS SHULG
A} Geausedeir | B) aditQurer
C) ediGamar D) @en_rllymesr.
Mouﬁt an intracellular attack against viruses is
A) Vaccines B} Antibodies
C) Antigen D) Interferon.
90. dp&satiL eursdluhisnaners seueh |
sathny (A) v e gltQur et erdlitBametdliy_st Gatraug.
arjemd (R} : SibeugGarayest ghLbsaidips. |
&8 Q;n@é,&.DUL@eﬁm GHU@ser apevd sflurer el ows Caibolphée :
A) (A whpbd (R) Grem®n sf, Queyd (R) sstiug (A) edpa arﬂmﬁam eNendaid
B} {(A) wppd (R) Goeor®on sfl, Gueaub (R) ersiug (A) el sflurer allensaween
C) (A efl, yyemé (R) seupy

D) ({A) seun, yerme (R) efl.

x 19000
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Consider thf; _‘foﬂé,‘yving. statgtnenjs :

Assertion (A) : Antibodies may interact with free antigen.

Reason (R} : . . Causing agglutination.

Now select your answer according to the coding scheme:gi\ien 'below :

A) 3 Both (A} a.nd (R} are true and (R) is the correct explanation ef (A)

B) Both (A}\ and m) are true. but (R) is not the correct explanat!on of (A)

C} (A) ls_,trup._ but (R _1s_fa}se
D) (A)is false: but (R} is true.

91. @elirare e pé&sb srﬁs‘u aremiu@pg 2
A) @L‘.L;E:Lb |
C . uws |
Hibernattoﬁ is seen in
A)  Camel -
C]  Rabbit

92. Gurit slemeney aHEL LLSLGHDE ?

A)  y&d gﬁ@mn@@mmﬁ)é&r > @Gas |

D).

B)
D) .

Gleusmeumen

. Beuppiet aginpbidma.

Bats

None of these.

B} gﬁ@mrr@@mrrd?@ﬂaﬂ@ggu %sﬂﬁ]gmm a;&;gr_o

C} m@mn@@mn@m 2_(HEUT S
i‘D)_ @uﬂ\s\) ‘g:_nﬁ&ésr 2.(HeUN &,
‘Bohr effect helps to |
A form oxyhaerhoglobin
B) Elﬁload__oxygeln from hacmpglobl‘n
| (o3} fom:x_.myog'loﬁln :

D} form acid haemin.

x [1913] [18000):
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93. 2.l gefl 2 Blper (LGurgThaiGadtey ) Hapaasd sLELUASSME

A)

C)

Bioluminiscence is under

A)

C)

BIyibL| WDEDETL_6uiD

2GS (PEOD

Nervous control

Diet habit

B) aprtGuoreiser

D) dCameiyert Hlemev.

B)  Hormonal regulation

D) Climatic conditions. |

94. dpssadecupnet eflures Qurehdug eg ?

A)
B)
C)

D)

B4 &Ly 6B
2, Hiq &
24, B1g. 657

" 9, &1q.6857

@it Gur @G armiSles
wCurdles

Bl leit

- engrédle.

Which. of the following is correctly matched ?

A)
B}
Q)

D)

95. Homasralfldv BLoug ThGEs 1

A)

C)

Glcolysis happens In

A) Mitochondria

C)

x[1913] -

Actin
Actin
Actin

Actin

sono_ G smetor flur

ans’ Quallenmeniin

Cytoplasm

Hat_:rndglobm
“Myosin
Niacin

Thyroxine.

‘B). ardes o_piiy

D) @y St HE0.

B) dolgi bodies

D) Al of these.



L AENEED L - : R B SN S "J"‘j“-"‘._’.'k -

497

| 35 : UDzZo
prby Qedsdiar waarddighs abs Qurpst srsdamg 2
A) Q{,,c;&rtorl;lnleéu - B) syengmereay |
C)  eMftenw D) AyCyr qgrrs&rdm&'_u'r@. .

. Which substances are secreted at the endings of nerve cells ?
- A) ' Antibodies . B}  Antigens

- C) . Lipids - D) Neurotransmittefs.

afg;éaatu_md)[ﬁ\e{: msuﬂ;ssdﬂét' sfguibﬂdu w_és@d:; Qlewes arebret 2
A @uss Qe domeen e_pupd Glelipe

B) arégsd shepang L{bu,t.@ Cleige

Cl  oplygs sfian Qurglsoears Cellgas

- D) 2 cwiiey Smesanend SLSHHEH.

One furiction of the human endoskeleton is to

A)  produce blood cells_' B}  produce lactic acid

- C)  store nitrogenous wastes D)  transmit impulses.

G?Gp G!a:rr@&&ﬁu&@drma@@é: GlumapeneTerus FTITE SHGILL] TG ?
A) @enser .. B} s éediiliie

0 verpiLé L D} @evSermin..
Which of the following is not a lobe of the cerebrum ?

A) Insula - B} Occipital
- C) Parietal D) Sphenoid.
99 urgTC g smefld A l@uu_r,@mm Sy L hsmeand Gatsbend prbY BrT&eayhEy
Sl Quur ) '
A srtudy &Cemsib ‘ B) ureiev
C) Lﬂfﬂ@&sérLgé; BT D) eurdle.
The bundle of nerve fibres connecting the cerebral hemispﬁere_ in mammals is
A}  Corpus callosum : "B) Pons
C)  Precentral gyrus ' D) Vermis.
"-@ [@ _ [ Turn over

[}

e
PR 7%



UDZO 36
100. seelye Hgud seveseailer wra QU@L ser Codlig smaussiu@d allgb
A) Qaresugymé B} eﬂmm@aarrgdn‘
C)  e@Gard D} Q@gaﬁlaﬂ&mqudu.
Carboydrates are stored in the liver and mu;cles in the form of
A) Cholesterol B} Glycogen
C}  Glucose "D}  Triglycerides.
101, s@m&Camrangdle @r}m Brmé Briuiu L shHe
A) smsCaTer S ‘ B) emrevOLbwm
s ‘5,@&(36,%!7 SL® D) 5@5$Gasrr-emé. &Y.
~ The fluid-filled cavity in the blastula is
A)  Blastocyst B) Blastema
C) Blastodisc D) Blastocoéle.
102. Hgwnes eney m@@ma; 2 _efien (LpLeoL
4) . SCsr@eadlsné - B) - g CarGlavdlge
C) CualrrQeeige D) Q&s&rl;(‘éqn@méﬂgs’u;
Moderate amount of yolk stored in the egg'is
A) Mesolecithal | B} Telelecithal
C)  Macrolecithal D}  Centrolecithal.
103. &% GHHCSeIbY a..r,byg',é] Qb Qe
A) srear CprélCr e B) Garflures
Cl sran  Gyrdlenmeui D) Gamgmin.
An embryonic cartilage forming cell is
A)  Chondrocranium B) Chorion

C) Chondroblast D)  Choroid.

x @ 19000
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104. dlo Carppeurl eetug oL efler 2 pusd) wppd sueriéflueyob Healpe

4) ' aflevGLrQgmeien B) auent &@ 2 @Gouraga

C)  @ears Gee Caranpge D) | CanrGeom Nenraviy &.

The origin of a tissue, the formation and developmient of the tissues of the body

s
A)  Histogenesis B) Embryogenesis
C) Gametogenesis ‘ D) Holoblastic.

IOS. a@&nnﬁlsﬁ Qeeystr uamaney Wl 2 GeUTs GG

A] '-mburrsc‘ﬂé geuey B) Serarmame

C) eapwrl 2.piy D) s&mé gﬁmLmaﬁ.
In Anura, the gill arches become modified into

A}  tympanic membrane B)  hind limbs

C)  hyoid apparatus - D} leg discs.

106. Ghﬂé,gﬁ@ﬁ]urr@ uLiey Qeddldr 2 lugdile uLiTbg @erlerr®m uLfeurs
2 meurdpg. gOaramre Qadwdlar 2_®masder wIHpD FHuGeusg

A)  Gué @puLige B) o6 @puL g
C) @iy Qarstens D} afureuseaden.

Epithelial sheet migrates inside a cell aggregate or beneath another layer

because of local changes in cell shape which is
A) Epiboly : B} Emboly .
C) Convergehce _ D) Epiauxc_:sls.

x {1913| | ' 19000 [ Turn over
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107. s@eyene Siflugrdlgid g gploLdesr el Cumlarsgdle wopure setalld
allurgs Qmdss
A) eCarQaealgd QL B) G@n@wn@meﬂga‘) pLeoL .
C) owslrrtaaigd @LmL D) GesnQaedipe apeL.

The amount of yolk is little that it is found scattered almost uniformly
throughout the egg cytoplasm is '

A) Telolecithal eggs B) Homolecithal eggs
C) Microlecithal eggs | : D) | Mesolecithal eggs.
.108. urerC g seflen Sm&HGaTers HIlguSletr Qmmﬂm@ &eurt
A) demren@Lr@urt - B) Cgr@umlenmrevi
C)  enslarars @i D) emfwb.
The outer wall of the mammalian blastocyst is
A)  Blastopore o B} Trophoblast
C) Blastocoele - D) lLabium.
109, g oaflurgubeh Carflurguéen G uul L G\ b adtug
A) seesLmds gl '. B) @emp 2 Wifllier @l
C) sbelur’igs @kﬂ, ‘D) @emd 2 Oifkdler 2 Ll @i
Cavity between aﬁﬁuon and chorlon is termed as
A)  Allantoic cavity B) Embryonic coelom
C} Amniotic cavity D)  Extra-embryonic coelom.
110. suenriéHen sfluren euflene
A soapse, meGarl, $leflGeugy, Qur@er, Nerrev@er, srev meor
B) asGopse. esCarl, Nerrev@ar, Guwrger, flefiGag, arav mer
Cl  seapsse, HaGaug, Qurger, sCarL, NamevBarr, sTevl_(Geor
D) fleiCousp, maé&rn'., &@qgmg,é), err@,a:rr,‘dlsmréu@am, STV (HEorT.

1
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Cofrect sequence in development 1s o |
A) - Fertilization, zygote, cleavage, morula; blastula, gastrula
B)  Fertilization, zyéo_tq_blgétula. mon;ula. cleavage, gastrula -
C}  Fertilization, cleavage, morula, zygote, blastula, gastrula.
.. D} | Cleavage. zygote, fértil!zaﬂor;. morula, blastula, ‘gastrula.
C 110 @QG\agmbqaaﬁd).srgbgﬁ; Healle @Qupy Sl earrcuuruu@aﬂr_olgj ?
A) weoaidlaseer . B sadye flessel
C) pospdlesaen ‘ | D)  @euppe ayqxﬂ&ms\:,
In the vertebrates which of t;he following tissues shows powér of regeneration ?
A) Brain tlssué | B) Liver tissue 7
C}  Muscle tissue _ D)  None of these.
112. fpsscaappes ag Hyisamearsit ( gresong. ) 7
A @erser | B gfieSen
Cj el Lifler K- , D) ©e&Gsmey.
Which of the fol}owing ;s‘ organiser ?
A) Insulin o | B} 'I‘ryiasin
Q) Vitamin K _ | D) Glucose.
113. 26CrrnCemfler Cave g 2
Al eoLde Goe 2_OPEDNS SanTULg
B} leLawup geamdGas
C) =5QprCempé @aﬁn@p@ 2 (HELT &80
D) Qe S HGID. |
Function of the ,acroson-;e is
A)  to dissolve egg membranes B) to penetrate the egg.

C) to form acrosmal tubule . D}. all of these.

X ‘ ) [ Tum over
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114, erddléver alhg Qe 2 ciieng erg 7
A e B) geuemen
C) b | D) nseos.
Non-flagellated sperm is seen in
A) Fish ~ B)  Frog
C} Crab D)  Snail.

115, Spsacon_aubpier oy sfluread Qurahlug ?

A)  Qeuzparssd —  Brbyp graihae

B) & 2 (Beurssid —  greong ( yfsanearat )
C) sy fOeesngymest . — gormbQerayes

D) GQurerss apleoL — ap Gamell.

Which of the following is correctly matched ?

A) Heart developinent ' —  Neural induction
B) Eye development —  Organiser

Q) Arcﬁcnteron _ -~ Delamination

D) Mosaic egg —  Echinoderm.

116. dpssac Blapaseia, plor wppd olbsem 2 Gargh Curg abg Blepey
@zde pLsdetng 7 -

A &CyrCurCsmid Cgmg Gaigd

B) gimeus Oled 2 (BT

C)  swwhp m&LGLnﬁﬂsrrrr&é,gﬂe&r LGLY

D) seaey sefsss

Which is the early step in the formation of both egg and sperm cells ?
A) Chromosome pairing B) Polar body formation

C})  Unequal division of cytoplasm D)  Yolk accmulation.

x ' 19000
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117. @plem 5@945?3@5qu81 ghuPD ST alaenamerrd (sl 2 (heuraig g 2
A} 26CrrCGamnd Gl ' B) =%CynGsmp
C) e&rigse 5}56&&6# ' D) &G seiey.
During fertilization cortical reaction leads to ti'lc formation of
A} Acrosomal tubule B) Acrosome

C}  Cortical granule D)  Fertilization membrane.
118. &NCumor ergud LppICHTL ahs s Hassefie Cerapdng
A) Qaruius flasser B) eaqubyddlssael
C) Hlewpi fladae D) geove dlasear.
Which of the following tissues is affected by Lipoma — the malignant disease ?
A}  Adipose tissue ‘ B} Bone tissue

C) Lymphatic tissue D) Muscle tissue.’
119. Guéagpuigmes eudldp ugd -

A) Guéypliuen B) @{§DumL

C) @eLtuei D) peessbedse.

Epiboly is performed by

A}  Ectoderm .B)  Endoderm

C)‘ Mesoderm D)}  Muscle cells,
120. g wu sl GETUCLBESED adaTy oL Qupidldmg 2

A} &ﬁgﬁ(BsmrrGt_iraﬂ- . B) @ GLr urgeneGaayes

C) @a@mngmaﬂaﬁ) | D) G\geﬂ(ﬁuneﬂ.

Ha;)loid parthenogenésis is termed as

A) Arrhenotoky B)  Autofertilization

C) Gynogenesis D) Thelytoky.

« [1913] [ Turn over
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121. Spbsan_apger ag eflure Qurabaidlng 2

A) gy evuirgfaevedlen —  GL&Caumlermevinm

B) | ylomedeud . ) R y&@sn@&&@pn(zsnma&!
C) &rfé.eﬂmr..mﬁéﬁ!e‘m ‘ - RQUT

D)  wGeaflur —  syevuigleen.

Which one of the following s correctly matched. ?

A)  Aspergillosis ‘ —  Toxoplasma
B) -Botuhsm_ — Leucocytozoon
C} Coccidiosts . — FEilmerla

D) Malaria - — Aspergillus..

122, esteumid sadpsener seued

L
1I.

1.

@esoprens SiLtsd erettugl GPIOICL @peﬂm @r'r SoG Qsdld
aurepid 2 Iferisa @b,

aamaisme Sthd aeug GOUICL el ot S0e Gsde
eurqpb 2 Wiflerhiserm@b. '

uGumerey Sted eeug @uﬂuﬁh_t_ Gpdid gf swg Qs
curapb 2 Wflemiaeanr@b.

@eubpiet
A lol@b ef " B)  Hwl@b s
C) M wl @i sf D) . saEgb SupraTma.

Analyse the following statements :

L

1i.

1.

Population density is defined as number of individuals per unit area
of environment. :

Numerical density is defined as number of individuals per unit area
of environment. '

Biomass density is defined as number of individuals per unit area of
environment. '

Of these :
A) 1 alone is correct B) 1II alone is correct
C) III alone is correct D)  All are false.

«[1913]
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123, ceervverrriveren STebTLG Hpinfensden Glen Cu Gaud) g,&,m'é) @grLiy ulluThosdhe
uweTuREDE. | B
4)  GpQuoren - _ Bl  @eu Grrgen |
C). @eraeller o _ D)  y@yrGgen Crymebr.
crtsseessseniniens I 1 éherrn(;a};messagf_: between members of a specles.
A) ' Pheromone _ B)  Estrogen
€) Insulin | , _ D) Progestérone.
124, B whHpb GPwe el aufles
A SQsmennav, GamGerenii e, g Gy aiu e, Sy remL e
B) UGsmemuev, émgpf..@rjrrmuf_s'm, e§@premutev, GanGeumemLi e
C) ean Cyreuev, CapGaraul s, fermaule, BGarauldv
D) CanCereudy, ampnl Crrasu v, ffGiresul.au, SGarerulev. -
Events in water.and ecological adaptations are
A)  Mesophytes, halophytes, hydrophy.rtes. xerophytes
B} Mesophy;:tfcs. hydrophytes, xerophytes, halophytes
C) Hydrophytes, halolﬁhytes. Xerophyfes. mesophytes
D) Haloi:hyt_es, ‘hydrri(_;_phytes. xerophytes, rﬁcsophj,rtes.
125, e, erebiLg) Hibley Breuri. |
A) é(‘.?grrmu,c_ehi : - B} evant Grreu e
0 gealsreauley | D) GanGereilev.
teereraesrraas are amphiblous plant'.
A) Xefophytes B) - Hydrophytes
C}  Tenagophytes D) Halophytes.
126. ............... TSHILG NN SHPidh SHEMTLLITET.
A) | Bt B)  enprwo
C)  ©CennQurumiip D) wmevge SECLL.
........................ is known as the universal solvent. |
A}  Water . B}  Alcohol
' C)  Chloroform - D)  Ethyl acetate.
x [1918]" [ Turn over
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127. uigud I g ulgue M2 e QurmsE, FBp Qar@ssiLHeiten @lﬂuﬁ’@&mma&
Qerato® afluren aleoL_eows CatbQa® :

utquwés I
LG GuireuiSwit
e &GavmeuSiurt
BB erom st Shurt

2w Beormevfurt

2

a)
b}
Q)
d}
@M sar
a
A 3
B) 3
1O |
D) 2

1

N b

3

ucgwé II
1. 300 &8 Gue
2. 1088
3. 4048

4. 300 8.8 semadde.

3

4.

Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A 3
B) 3
C) 1
D) 2
x

List 1
Troposphere
Exosphere
Mesosphere

Ionosphere

List II
1. above 300 km
2. 10km
3. 40 km

4. upto 300 km.
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128. @ pihlemes wevor_ew Lgmoifliiy
I @ls as@ﬂméaﬁgéls&r Qurgs sréssans dlaug
. @g wellgar LHHId SjeuguerL W HDNIEGP LB LG ULE.
. @ @mg’)sm& S BTTHens sfluran senaseilcr Cubu@sgiaug:.

IV. uvallggueiu paToLEaTS.

@GU[DQJG‘IT : |
A)  ITwpmid I eflureseme B) luw @b eflurerg
C) I whmid IV eflwrerena D} IVul@b eflurerg.

3 Conservation ecology
I. deals with gross cffeéts of radiation.
1. deals with study of relationship of man with his environment.
llI. deals with methods of proper management of natural resources.
IV. s for the benefit of human beings.

Of these .

A) ° Iand Il are correct ' B) I alone is correct
C) 1l and IV are correct D) IV alone is correct.

129. g deddldar Qurgs smiy SpgueoLw &flo wHpb sefln @plloaaurgd Gog

aUGHBeur
A) FITT ey eTEuL 6bT B} Quidef
C) W. B. QeuretiQuiié D) erteme Qansbisen.

“The total relation of the animal to both of its -organic and inorganic

environment.” It is defined by
A) Charles Eiton B} Taylor

C) W.B. Vernberg D) Ernst Haeckel.

« (1533 |  (Tumover
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130.

13..

132.

ﬁrﬂé CUET(BD S eUID eTeTLIg)

4)  eprGeresul. B) eapl CrrenLn’ev

C) eant Cyr@améey - D) Gﬁ@mw&@mnéu.
Plants growing in water are called

A) Halophytes , ‘ " B) Hydrophytes

C)  Hydrocoeles | D) Pelophilous.

HT19.6) seondp arad sepsrupdle sraiLph elletidlans ag 2

A) - U.L'_.LITL'Dlééﬂ o B) e

C  GpwlLrl yupsser | o D) @appst sgefdame.

Which one of the following is in the fauna of subterranean community of the
forest ?

A) Butterfly B) Squirrel
C) Nematodes o D} . None of these..
gCerett LLeg e UL ller amyemmors gHu@d LTy ag ?

A)  scyeor GHTL B} alusrupdlé Gophs 08E®

- C) Gupmi editiysessdl gopey D) @ Semargid.

133.

Which of the foliowing is an impact of holes in the ozone layer ?

A}l Cataract B) Low yield in agriculture
C)  Poor immunity D) Al of these,

2 esamralu Qeuln 2 wielletme ghu@d elanereay T 2

A) DG HHLG LW | B) &L6é wULb o wkge

C) 988 UBMBTDY STeD | D) e Sarsgh.
Which one of the following is an impact of global warming ?

A) Frequent cyclones , B} Sea-level raising

C)  Prolonged monsoon o D)  All of these.

«[1913) . [i95%9)
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a!pdémcdsra.mr_bgb’!é: sfurs QurEbdug og 7

A) 9&] LBTET&HSD — ®leou

B) Qj‘l’ﬁ.l@l.ﬁéi_é&'a@ . — Yoo

C)  srhplés wrerssd —  gGrremré
.D) GLDITILL._IT[?’ curr'&,sunéi&efr , —  in&ior gyfln.

Which of the foilowing is correctly matched ?

A} Noise pollution —  Garbage
B) Water polluti_on B — Smolge
C)  Air pollution —  Aerosol

D)  Automobiles . —  Soil erosion.
a?gpé,&.co'!.m_.smj)@d) ag) Q&q@pmuﬂ & hdlel ?

A) srrue &phél

B)  sdicbul sphé

C) | BLEes & phHé)

‘D) Bt sphd (@an grergdlad assder ).

Which of the following is sedimentary cycle ?

A) | éarbon cycle B) Sulphuxf cycle

C}  Nitrogen cycle - D) Hydtdlogicaj cycle.

genailene emthg Ceusnes Qawiud &HEEG S CaTErlier BEé@h 2 WikeTer wHrD
2 AyhHpensusefle @Lﬁmuqé@u Gt '

4)  uGuwrevSwr b B) uGu_;mq.é: sy ey

¢

C) rQameuiwrr | D) #CsrdeuLid.

- Self-supporting natural functional ecological unit comprising living organism

and non-living matter is termed as
A) Biosphere 7 B) Biotic community

C) Ecosphere : D)  Ecosystem.

x o | | [ Turn over
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137.

138.

139.

Qubersle 2 Wiflemhset pedhu epanQuTm . sameand Hmbus Hebu ouCurdegb
& &l QL '

A uBurhHCGur Ganhiwe apHé)
B) 2 awieyé appél

C) emanGrrergdled &phHé

D)  saflo sphél.

The cycle which enables the living organisms to use and reuse the essential

elements is called

A) Biogeochemical cycle B) Food cycle

C) Hydrological cycle D}  Mineral cycle.

96 GPUIILL GPpeila 2 dier Qs z_uﬁlrﬂaﬂﬂéﬁr Goiihe Hlevawew semphen allgb
A) gl gyt uGumomeu B) ybll g0 ereighl

C)  Oipdll S0 midurt e D} Qeuppsh ageufideme.

The amount of living matter in a particular ehﬁronmenf is expressed by

A) Pyramid of Biomass B) . Pyramid of Energy

C)  Pyramid of Numbers | D) None of these,

wefgaflar QuEphEL e aflsgd fe urseflurése el Lblar K ow 2 husd
Qeudlenpg. @euallgb auraph (pepen allg SHEPHHRTD 1

A)  swersrdad B) - afevugs ACaeayetadlls
C) uTyensgsb . _ D) blyseeueisn.

Certain bacteria living in human's large intestine help to produce Vitamin K.

This relationship is an example of
A} Commensalism o B) Epiphytic relationship

C) Parasitism ' D)  Mutualism.

x[1913]
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Seuly afleurl usgasdler ererar uflay Gl IGHEAGD ?
A syfies Q&nc&aq@&@m alleviug WwHHKe upencuseflest afleuyio
B) flefe unyeugé 2 eren ellatigaaliss edeuryid
C) - rﬁ&r’rsq urgeuig.d 2_evem HTeurhmanes edleurh
D) wrgdév euliagd uregmigseiier alleuri.
What is recorded in a red data book ?

A) A list of animals and birds that are fast vanishing

B) A list of animals found in a reserve forest

C). A Hst of plants found in a reserve forest

D) A list of tree-dwelling mammals.

g@&&:@bﬂ.@’p@sﬁ 61 euT(PID LeERGLIGaID 7

A)  yéeflenm . Bl ueGamdlenmevsy
C) emssmmest D)  &Ngpeve.

Which 6f the following is a living fossil ?

A) Euglena B) Balanoglossus

C) Sycon V‘ D)} I;l-mulus.
g,\&gpﬁgm;m,e'\) e eumd @uid speifies UoBLGutest Sei0hgieteTe
A Ssbugd ' : B) Gehsauld

C)  oyflugyri D} @urGueveari.

fy

The fossils are located in which one of the following places in Tamil Nadu ?
A)  Chidambaram B}  Chengalpattu

C) Ariyalur , D) Rameswaram.
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143. Epseail aursHubisaars o :

 sapp (A) 0 ydlu Apdlerimener 2 husd Qeinyd Blepsdlee Spdlers Cambpio
STEATLISIT (HID. ‘ " - ' '
sryemid (R) 1 sefloult e uriyGaeeneat Smeusme.

8 QarRasiLPerer @PIRser apeud sflwres GIS}GG)I_.Gmu.Iﬁ CaipOa®&Hs
A} [A) wbnd (R) Gyeo(id &, G@gﬁfb (R) erssiugl (A) aNpe sPurer elenssn
B) (A wdpe (R) Geor®n &fl, Cueud (R) ereiug: {A) ol eflures allendawae
C) (A poup, gerré (R) &if
D) {A) afl, c%emrrs'\; (R) geums.
Consider the following statements :
Assertion (A) : The process of formation of new species is called speciation.
Reason (R) : It provides isolated unit of a population.
Ndw select your answer according to the coding scheme given below :
A) lBo'th {A) and (R) are true and (R} is the correct explanatlpn of [A}

- B) Both (A) é.nd_ (R) are true, but (R) is not the correct explanation of (A)
C)  (A)is false, but (R} is true

D) (A)is true, but (R) is false.

144. ar&dls adnp eurey BULG TRSSSHTC Hougl

A) urgrlgsefler uflesmo euentéd
B) e svGlusaneGeaye
C) FamuipCesesn
E) welgelles epgransut euTeeien GUHG eTeTLIg.
Presence of coccyx is suggestive of
A) ~ Evolution of mammals B)  Over-spectalization

" C)  Recapitulation ~ D) Man’s ancestry in tailed monkey.

x {1913
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145. srireeh Lirfedlefler swareaggeut
A G.J. Qmso‘un..@ B) godud gmé,eiﬁsﬁl |
C). A R ameev D) eriprl Guuwr.
Charles Darwin’s contemporary is
A} | G. J. Mendel B) J_ulian_ Huxley
C) A R Wallace D) Ernst Mayer.
146. g@&&G&TL:Qij)@Gﬁ ag eflure QuUIESBOUL Pereng |
A) Qupes Catey Cariumr® — QeCaug
Bl @ellemrs Gamiur® | —  eoeusuCos
C) GubulL e @Gourss Gariur® _— %siu(Burrr'rs&r
ﬁ) s@durbpb Cariur@ —  etrereul Guuwr.
Which one of the following is correctly matched ?
A)  Theory of Natural Selection — Savage
BJ | Germ plasm theory -—  Weismann
C}  Modern synthetic theory -~ Osborn
b] Mutation theory —  Emnst Mayer.
147. ergS]eSl@fr;gg Glendier uflesrmo euentédd yybubTarg 2 |
A m@eudy B)  ACurdilien
Cl  gCurdliuey D)  Quflsdaus.
Evoltitjon of horse started w:lth
A)  Equus | B) Miohippus
Q) Echippus D) Merlchlpp.us.
LM__’ x[1018] [ Turn over
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148. Spsacseubpet abhs wellg spugeund Gbduradie SO GHaILL G ?
A CaprCurOuier Qe ey B) .Gg@rr('bmrregmﬂeﬁ]efm
C) et Crrlarigdlady D) grordsdesr.

Which one of the human fossils in the list was found in India ?

A) Homo bengalensis - B) Homo habilis
C)  Australopithecus D) Ramapithecus.
149, i eTeBTUG) zamr'rmmmrj)rﬂds"r ,gqu}mrﬂh as&rgmwéaﬂu@fmg
1. #Camimenien

I @&dHGuremyen

. &mgGeararyev

IV. uéellser.
Qeudmyed :
A) lwpmbd II eflurereneu B) Nol@b sfurerg
C) Hlw @b sflurereme D) Hlwl@bdIV sflurereme.

..................... are called as stem reptiles.
I. Theocodonts
II. Icthyosaurs

III. Cotylosaurs -

IV. Lizards.
Of these
A) I and II are correct B) 1I alone is correct
C} Il alone is correct D) HI and IV are correct.

« [1933)
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150. L;smg,uu}c{.l @g&l-llurras eeniteues eugli] Cameiu smeud

151.

- 152.

153.

A)  goyrdlé sreb B)

C) Quiiblwe sreuld ' D)

-

GluandlaGeusilues smeuld

sHCurangw sreun.

The class reptilia first appeared in the fossil record in

A) Jurassic times B)

C) Permian times D)

Pennsylvanian times

Recent times.

@éaﬂugéeﬂ hG UG SESHTETHHEIHG 2-FNToID

A)  GurHwe ST eTD B)
C) Sorgéd sgmsned D)

Stick insect is an example for

A) Batesian mimicry B)'

C) Sematic mimicry D}

2 fir Gagrpppdeén Gurm eueaflvam agdle

Bobeg ?
A CH, B)
C) H, D)

poCauflue SigriaTasid

@leubme 6T gieyblcsemen.

Mullerian mimicry
None of these.

( Swrevdlut ) erg Gléeumiod

O,

NH, .

Which was absent in the atmosphere at the time of origin of life ?

A} CH, B)
¢ H, , D)
o WMl Caripiv erCuirg ghul.Lg ?
4A) AGasbuflues B)
C)  SBsrGenis D)
Origin of life took place in
A) Precambrian B)
C) Mesozoic | D)

x| 1913]

0,

NH, .

FCanrCar il
CuelQurGarullé.

Cenozoic
Palaeozoic.

{ Turn over
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154. greurm wefigen atiCs aumphssTs HOULILGSPG ?
A) |, prem ‘ B} e
C)  udhser D) @Qeveu &mmsam.
Java man i)resumably lived only in |
A)  Java : | B} China
C) Africa | D}  All of these.

155. st apgedlev gnames Carespse Game L el Gré\r'rsg-mﬁ' Wi 7
A)  S. L. bléveurt | B} L. urevaf
C) F. ﬁmj. - D) @eubguet ergiopfidene.
Who objected the idea of spontaneous generation at first 7'
A) . S. L. Miller B) . L. Pasteur

C) F. Redi ‘ D) None of them.

156. wspefles e meuren afle @asampilard o @Gourer swpwod eadalpb

SDPHHLILGEDBTDG ?
A 56Cs ‘ Bi urdieflwr
C) GarurerQeul.eu | ' Dy és)suueiua,dr.
First formed colloidal aggregates oi' organic molecules are called
A) Algae _ B) Bacteria;
C)  Coacervates , D) Vuuses. |
157. @@ eﬂrﬂu.r sheeoy @&@L‘D Bleé nl L Hdld, HOGWR Blapeurd b aiéaa?é; DL (BID
558 oabslLRapg. @bs Hlapaa Spseb oilpd |
A) Qgergd ot B) L&mrr@és @ emiyeil

C) prieréd Cecsaye D) FfarblCerayer.

x[1913] |
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158.

55 : \ UDZO
In a small inbreeding poﬁuiatiqn. ‘one allele may become homozygous due to

chance alone. This is termed as
A)  Genetic Drift B) Meiotic Drive
C) Natural Selection D) Recombination.

feulragpedr eTebTmiTey erebrent 2

A Lﬁi&uu'ggmmmrrqsr pgrengufier s Garenmse

159.

D) Appearance of new characters.

B) gmiller uetosel égns&r@g@

Ck shosllar uamyse Corarpie

D)  ydu vayset Ggrrsbrgg,éa. '

What is reversion ?

A Appearaﬁce of remote ancestral characters
B)  Appearance of maternal characters

C) Appearance of paternal characters

gpsaiLapde waflflar ‘Qararaau i’ Apoflan adug agmeansd

AL T )
A puGsrrgym ;ggsmﬂur B guwGerrgyr gigmsv
C)  puGearrdym prolaréent D) guGemgym erwmisdlurerr.

Which of the following is the inconstant species of de Vries ?
A) Oenothera albida 'B) Oengothera gigas

C) Oenothera nanella ’ D) Oenothera ldmarckiana.

X ‘ ' ‘ [ Turn over
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160.

161.

162.

163.

w&8 whpib upeauildr Gpéosou a5hE 2-gmyaors gl erb 7

A)  SDTOHE BTG B) SLralsh

C)  Capmoressn yiser D) eeeurge aeurdy s,

The wing of an insect and the wing of a bird aré an example for

A) Analogous oréan E) Atavism

C) Homologous orgah ' D) Convergt;,nt evqlﬁtipn.
it Qmmmaﬂs’u curpid eflebdlarsdihe .

A) emgmL(Br;né)us;siu B}  enap. CrrGeamden

C) #CyrBameven D) GanrGerenul s,
Animals that live in the aquatic environment are

A)  Hydrophytes | : _ B) Hydrocoel_cs

C) .Xerocoeles ' _ D) Halophytes.
mrﬂ&@@mq @ss &b aumdlng

A) LT Gerorr g | B) evurrs\;LgrrGurrrf]aua\:

C) -&r@eurfiud D)  évBaenQeurfiwd.
Zebra comes under the category of

A} Fossorial : B) Saltatorial

C) Cursorial D)  Scansorial.

eflu peflflen grésgsTe ghuRD ey Seesalds Gt

Al dlGar g Crmifenip - B)  aflefiGur gCrrinlenid
C) ety CymgGrrinSlend D) @eubper agauficvene.
Tl'1e effect of sunlight on the plant movement is called

A} Oligotrophism B) Hellotropism

C}  Heterotropism D)  None of these.

« (1613]
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165.
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57 UDZo

eretiug) Slp GISHaTHaT Sheg LIGHRIGETTE %m'uwﬂé,&r_q.
Al Qanwée B)  vGenm
Cl  wey _ D} Al
........................ is the form of small grains or pellets of ice.
A)  Hatl | B} Snow
C} Rain D)  Sleet.
Grmeur enGaguralé 2 efren Ggdedl e @ibg Bt Geuliublaneuuilés @[Dg,a alEn

A) 20°C — 23°C : B) 23°C—24°C
Q) 2;9°C — 30°C D)  32°C —33°C.’
A jelly fish from Nova Scotia dies at a water temperature of

A | 20°C — 23°C B) 23°C —24°C
C)  29°C —30°C D} 32°C —33°C.

wrtefudae grerey GG 2 Léd Qe 9@!&@u®55\é& Qamrehueme.

S EOHWITR e
A  QantylrrGsidls eleiue B] ea&@LrGatdls aflets

C) CanmiiGur Qgtlls alletig D) @éu[b@éﬁ ergieafldoanc.

‘Marsupials who have a limited power of temperature regulation, are called

A) heterothermic animal B) ' endothermic animal

167.

Q) homeothermic animal D)  none of these.

@ibe 2 wWiflern Qaviufleedd ghued Sifisere; wrppsdle vLGCo prhGD Spedr

Q& eo_g

A} yflGsrne B) simq.(BsﬁrrrG\gr‘rméu

C) a&Ceunrainen D) as&r@ur@g.ﬁwa‘a. ‘

The organi‘s;ns which can tolerate only a small varlétlon in temperature is
A)  Eurytermal B) Stenothermal

C)  Exothermal D) Endothermal.

X | 1913] : | Turn over
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168. i Hleve wppid Birflenes arihg wewh ugSlidr cueT®D STeur

A) gerGar evul e B)

C) JSCsmenu_sv D}

CamGeur enLiL e

eoan GrmenLi__sv.

The plants that grdw in water bodies as well as in waterlogged soil are

A)  Tenagophytes B)

C) Mesophytes . ' D)
169. sremt erfleuryalies BeGaete yemey

A) 50% - 70% - B)

C) 70% - 90% D}

The percentage of methaneAin biogas is

A) 50% - 70% B)

C)  70% - 90% D)

Halophytes

Hydrophytes.

30% - 40%

40% - 50%.

30% - 40%

40% - 50%. -

170. 2. dflw gypmés @B w gy bpadid vhe oL sfng

A afl ‘ B)
C) o diiflu eury D)
The bio-energy is the energy obtained from
A}  coal | B)
C) Tbiogas ‘ _ D)
171. @péaain_subner erg 2 ulit erflGhr@mer :

Al Qupes m:rru4 | _B)
a  af D)
Which one of the following is biofuel ?

A}  Natural gas . B}

C) Coal D)

« (1015

Bubhens euriy

QU Gyme.

natural gas

petroleum.

L Gymés

tDITLD.

Petroleum

Wood.



59 UbzZo
172. Epéseocubper erg Sey mﬂlmlﬁlﬁdﬁmgé Coibag 7
A uteerse B) Lrieflelle gmalser
C) geusvaat D) @eubmer ergieybleenen.
Which one of the following is island fauna ?
A) Elephants | B) Darwin's finches
C) | Frogs D] i\lone of these.
173. Spsecior_cubper erg Qg,rr;frut,brp LUTeUGITS 2 éfeng) 7
A gioerd o B) Qi mdifur
C) GI‘JI;_GU)L_I;(SL D) @eeu eatpgid.
_Wﬁieh one of the following is discontinuously distributed ?
A)  Dipnoi ' B) Metatheria
C) Ratitae . D) Al of these.
174. aﬁ'g;éﬁ,ml.mﬁ)@dr g QETLihe LyaeHE 2 SHTyaTd 7
A)  ythelblur B)  Qeuemeurdisel
C) rsnl_s'\)un'_u; ( ewigeuey ) D) @eau s@aggd.
Which one of the following is an example for continuous distribution ?
A)  Artemia | B) Bats
. Q) Mytilué D) Al of these.
178. Spssaocupmier agl wIHE HPe 2
A) - STHDT e - l "B)  @flu g
C}  2.0F eury D) Eevsu netdHgib.
Which one of the following is alternative source of energy ?
A Wind mill . B)  Solar energy

C) Biogas D)  All of these.

X . [ Turn over
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- 1786.

177,

178.

179.

sTR&@eT UTgeTshs Caicmiug ashe Seudub 7

A) maﬂmc&m.éu&é]s% Gurgdiu d]grr%m aumy @ese

B) aaaletgamead sree

C)  wylGUTheT&EhsHaHN S

D) Qlemeu e Hgilb.

“Conservation of forest is important for

A)  Oxygen rich atmosphere B) Protecting wildlife
C)  Timber D) Al of these. |
Cuelwrit$i4.& wbmud Hwriéigé @g%uh@fo G&r’r,lf,gs LeHléE ereten Quuwit 7
A) (Bgv_offsnrrr’ré:qé: flweod B) AGurGawr

(o)) | phlucdor_é flusuid | D) . @leuppiet ergiayblévaney.
Palearctic and Nearctic Realms are often combined and named as
A) Holarctic Reélm B) Neogaea

C) Oriental Realm D} None of these.

F8p eI L el ‘BT grmiad fuskb s snthag gl 7
Ay dam | B) wsdlu Cwlflést
C) @k D) wL&TevsT.

Which of the following falls under Neotrépical Realm ?

A) China B} Central America

C) India D) Madagascar.
gammmﬁqu LiFeusy Ga.rn'_urrLsmL.'mgggm.r'r wrr ¢

A onsdd B)  Qaperf gyeuumie
Q) Lrireder . D) Quaiié.

The law of Adaptive Radiation was proposed by |

A) Huxley ' B) Henry Osborn

C) Darwin D) Mendel.

« [T913] - [19009)
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180. urhg uyel Gweed 2 Bifleré Apiliarmser o e pPssiuEHDg: 2

Al yhGmis B} @eveCairCLmis
C) Sourifs D} yeflastsen.

Species with widespread geographical range is known as

A) Eur:,rtopic B) Ster_iotopic

C) Sympatric D)  Universal.

181. SpsacoreupBle gy spHH Qelubengu Guiberal Qurs ag 2

A)  erhmy ' B)  seflweor
C) =2 Corsd seolomser | D) gmamin.
Which of the following is renewable resource ?

A} Air _ B} Clay

Q) '-Métallic minerals D) Water.

182. Gaafsss cuaniibeh WWondS

Al Sedlaeo et - , B) slsdl st
Cl  Qefaai e D) @beurseilair.
The cultivation of honeybee is called.

A) Pisciculture : B) Apiculture

C}  Sericulture ' D)  Aquaculture.

183. @\l erg et Qlengemas Ceibeadien 7

A) L et Bett B) BT Wbt

C)  Sleéveur Bdei D) megdye e

Which is not a fish ?

A) Cat fish B) Dog fish

C)  Silverfish ‘ D) Lung fish.

x- 1913] L [19000 [ Turn over
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184.

185.

186.

187.

O\ U - S e SenPsaliLBEDE.
Al ey ' | . B}  emieur
C) i : D) gfeuenenco et

£

Young one of a fish is called

A) Fry . | B) Larva

C) Nymph D) Juvenile fish.

@Qibdu Qe cdoremL. et eTesTLIZ

Al GelGur B} Afleugev

C) GLmi@uBLrm ‘ D) vGaredlGuirmebr.

The Indian carp is

A)  Labeo : - B)  Pristis

C) Torpedo : D)‘ .Scoliodon.

Qedlassr @dler aramiu@Eng

A Bered | | B) saufeue

C)  (A) obmud (B) GyesorQid D) @eupmst ﬂgjcqﬂe’usm@:.
Scales are found in

A] Fishes A B) ReiJﬁles

C) Both{A)and (B) D) None of these.

g8 Qarpssiiuferer wrhsefls, ANsQel wloL Qebashd aa uuedsTLGED 7
A  Qelgev @@wxr:.mr : B) emellsev Lt fluam |

C)  wmbev yebur - D) O &CGrerm sgmetg .

Which one of the following woods is used in making cricket fats ?

" A} Cedrus deodara B)  Salix purpurea

C) ' Moms alba D) Tectona grandis.

x [1813] [19000]
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188. Uiy &8 eruCuilenpeng eribag ?
A) | GufiflerrQeor i B) . emawden
C) urbOéev ‘ D)  eusm. _
Sﬂl_tworm moth belongs to genus |
Al Periplaneta . B) Cimex
C) Bombyx ' D) Musca.
189. Qs SUbsEoEE GPDEGD LELH BELAEHH Hesdpg
A} Cererdub Blmid ' B) . OlyerGleumebosLiiwm ©levi Glusstg sorm
C)  HCampliid o D) OlsarCleveer gdlurigar.
The drug which reduces blood pressure is obtained from -—
~A)  Solatium nigrum B) Rauwolfia serpentina’
C}  Aconitum D) Cenlella asiatica.
190. LBy sdfie Quifler Grmb eunsd &ng@&: |
Al yGorlGLrGareun B) urseflur
C)  evmeugenv D) Y EHenEHBTETTEISEN.
Pebrine disease of silkworms is caused by
A)  Protozoa . B) Bacteria
C) \Virus D) .Fungus.
. 191, samé afleuerw omiEdls sipsid Hipeuul Peter @)L
| A) a&Geor ' B) urp&Gumi ( Guh@ cumsmemd )
C) ubsermGzeiy D)  Syevenrip.

Jute Agricultural Research Institute (JARI ) is situated at

A) Lucknow B) Barrackpore ( West Bengal )
- C) © Bangladesh D) Assam,
X .| Turn over



UDZO

64

192. abs G Qubes aeané Callile walgrae siguodlsstu@damrtanet 2

193.

A Gaéul yhsm

C) 2difluéd Cwmrer G&L&L’Jqé:a'r '

B)

Casflug GﬁITLI_L'D‘

D) eusmailekg syamireubas.

A natural reserve in which human's activity is allowed, is

A) National park

C) Biosphere reserves

ufrened ellwrd) erig &TeRTILREDS

A) &1L (AU LieuisT eomvent
C) e gcu’a‘rsmm
Bursal disease is seen in
A) Sheep farm

C) Fish farm

B)

D)

B)

D)

B}

D)

194. dpsaamieupper sflursl Qurehiug g 2

A) Qlems

B} elemLlyw
C) Sievarlen .

D) 2 S

Which of the following is correctly matched ?

A) Mosquito
B) Leech
C) Ascaris

D) Sucker fish

x[1913]

National garden

Wildlife sanctuaries.

CamiPll Lt e et

LesTIO LIGtoT em et .

Poultry

'Pig farm.

2 6 gp1 Devoramd)
UIFeoLy (Lpemin
Um L Horesh)

P oo S emunliymend,

Endoparasite
Mutualism
Ectoparasite

Ectocommensal.
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195. som@surrﬁrreﬂagmgemrr THUG Tgd STHGD Y&d 1

A} a'a(lb‘lbqr . B)
'C) (Baafrgjmmﬂ Ll o 'D)
Chilopolychrysa is a pest of

A)  Sugarcane | E B}
C) Wheat crops D)

eraBorenaser allggibh el

@B,

Ol seeds

Paddy crops.

196. Ggafsmefler gy GGynedr erclicurpy 2 Beurdlpg 2

A) ureveuf) GeTLQUEBESHD B)
C) wm 2 (heurdad _ D)
In honeybee colony drones develop by
A) éexum reproduction : " B)
C) Regeneration D}
197. afgpé,;,edmumg’)@eﬁ, ghursl Gur@wbdug ag 7
A) rﬂ(;?m'rré]grre‘m cUEoT(R) —
B)  umbSlgev Guomf] —
C) Bewudeusr greaey —

D) Gesdloui Caésm | _—

seetl @lerLGLIm&EAD

@euhpyet ergjcuL&;ibmsu.

Parthenogenesis

None of these.

DO (D
Ul B
Q\genenem

Cgebr.

Which one of the following is correctly matched ?

A}  Rhinoceros beetle —
B) Bombyx mort —_
C) Neelaparvatha lugans —

L} Laccifer lacca —

Mango tree
Silk
Coconut
Honey.

{ Turn over
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198.

199.

200.

soufigmbd adedimba QupiLGHeDE

A)  yEmygréLT @by ST - BY  dengerpghon HeoritegflGumeSiub
C) Qu‘rrﬂeh) _ | D)  sumgeeur S ACaretv.
Pyrethrum is -obtained from |

A)  Azadirachta indica

B)  Crysanthemum cineraritolium

C) Derris

D)  Sabadilla officinale.

& P& oI Q[bi.o@url'_aéﬂéu BB GPrishaner apLLiugl sr‘@ 7.
A) ‘@uGeuflue’ q@ . B) Glarsdld yup

C)  der yg | D) @ JEoatHgib.

-

Which of the following nematodes causes obstruction in lymph vessels ? ’

A) Filarial worm B) Hookworm

C) Pinworms ' D) All of these.
NByrGuwred erebrugy

A) i@ amrirGumebrey B) 'sr#,GL._sr gmm’r@mrrsém'm
0  &Gyms CyeGa iy D) (A) wppid (B) Qyeo@id:

Pheromonés are
A) Endochormones. B) Ectohormones

C)  Growth regulators - D) Both (A) and (B).
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" Time Allowed : 3 Hours | | Maximum Marks ; 300

Read the following instructions carefully before you begin to answer the guestions.

10

11.

12.
13.

‘ IMPORTANT INSTRUCTIONS
This Booklet has a cover ( this page ) which should not be opened till the invigilater gives signal to
open it at the commencement of the examination. As soon as the signal is recetved you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the
questions.
This Question Booklet contains 200 questions.

Answer all questions, All questions carry equal marks.

The Test Booklet is printed in_four series e.g. or (D] (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the bookiet.
For example, {f the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows :

[A]JB)icrD)

You must write your Register Number in the space prov-lded on the top right side of this page® Do
not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fatl to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses {A). (B), [C) and {D}. You are to sclect ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total-marks will depend on the number of correct responses marked by you
in the Answer Sheet.

In the Answer Sheet there are four brackets [ A |l B || C | and [ D ] apgainst each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer wilt be treated as
wrong. e.g. If for any item, (B} is the correct answer, you have to mark as follows :

- - (A} CID

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
Alter the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

Failure to comply with any of the above instructions will render you Hable to such action or penalty
as the Commission may decide at their discretion.

In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question Booklet.
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